OR. - FRacon) Prision

/°2' _Li- s /‘2’(, = _,-_.2:.. 2
Multiply by 10's: s s Y s JO .o

Divide.
36 (o 3 x 'OG/
= 7 = =
b) 0.36 + 0.06 0.3, » = =
Places
0. 66
€)7.2+09 (2 decimeal places)
72 - 5‘_'8: /
1O 0-7-’72 —)) i'z:.;,i i F2 %

Assignment:
Part A:
1) 0.5 2) 58 3 96 4) 03 5) 98

x 0.1 x 06 x 03 x 02 x 06
6) 033 (). 1.66 8) 224 9 804 10) 646

x 0.1 x 02 x 03 2 x 04 x 0.1

f )

1) 45 12 57 13) 903 14 94 13) 66

x 03 X 2 x 02 x 0.2 x 3
16) 55 17 0.25 18) 04 19) 82 20) 3.13

x 0.2 x 87 x 02 % 2 % B3
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Part B:

D 08 2 48
x 0.1 x 06
6y 099 7 1.66
x 0.1 x 04
i1y 95 12) 57
x 03 % 3
16y A5 17 0.15
x 0.1 x 04
Part C:
#1
#4

#2

3) 56
x 03

8) 2.26
= Sk
13) 803
x 032

18} 03
x 02

4136.8

4)

v Lo

e
<o
ot

9 4.04
x 04

14) 94

19) 8.

ot
Bt ol

10) 546

15) 66

M 313
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